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1. (25%) What are the crbital speed and the period of revolution of a satellite
that orbits the earth in a circular path of radivs 12760-km ? (gbout twice
the earth radius), ( g = 9.8 m/s", at the earth surface).

2. (25%) An object with beight b, mass M, and uniform cross-section A
floats upright in a liquid with density . (a) Calculate the vertical
distance fram the surface of the liqnid to the bottom of the floating object
at equilibrinm,  {&) A force is applied and suddenly removed from the top
of the object, the objact will oacillate up and down in simple harmonic
motion, Calculate the pexiod of this motion in taems of the density o of
the liquid and the mass M and cross-section area A of the object. Neglect

the damping due to fluid friction. AR 1o -
3, (25%) The long, siraight wire AB carries | T
a curtent of 15.04. The rectangular loop whose A L=3.00/
long edges are parallsl to the wire carries a current Y 20em
of 3.00A. Find the magnitude and dirsetion of the

net force exertsd on the loop by the magnetic field ke
of the wire. ( ge=4x %107 Wh/A m) ﬂb

4, (25%) In term of c, (a) Wwhat relative velocity between & source and an

observer prodnces a 100% increase in the wavelength of the observed light

and (b what is the speed of a particle if its total energy is twice its rest

ensigy?!



